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extern int Magic

extern int FMA_Period
extern int SMA_Period
extern int MA_Mode
extern int Applied_Price
extern double Lots
extern int Slippage
extern string Comments =
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double FMA_1 = 0;

double FMA_2 = 0; — TREEE
=0
=0

double SMA_1
double SMA_2 H

int Ticket = 0;
int Adjusted_Slippage = 0;

datetime Bar_Time = 0;

bool Closed = false;
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int AdjustSlippage(string Currency,int Slippage_Pips)
{
int Symbol_Digits = MarketInfo{Currency, MODE_DIGITS});
if(Symbol_Digits == 2 || Symbol_Digits == 4)
int Calculated_Slippage = Slippage_Pips;
} — BIETER
else if(Symbol_Digits == 3 || Symbol_Digits == 5)
Calculated_Slippage = Slippage_Pips * 10;
}
return{Calculated_Slippage});
H _
int init()
Adjusted_Slippage = AdjustSlippage(Symbol(),Slippage); ~ |
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return(0); |
int start()

{
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if(Bars < SMA_Period)

return(0);
[RERENDFI YT
if(Bar_Time == Time[0])

returmn(0);

}
else if(Bar_Time |= Time[0])

Bar_Time = Time[0];
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FMA_1 = iMA(Symbol(},0,FMA_Period,0,MA_Mode,Applied_Price,1);
FMA_1 = NormalizeDouble(FMA_1,MarketInfo(Symbol(),MODE_DIGITS));
FMA_2 = iMA(Symbol(},0,FMA_Period,0,MA_Mode,Applied_Price,2);
FMA_2 = NormalizeDouble(FMA_2,MarketInfo(Symbol(),MODE_DIGITS));
SMA_1 = iMA(Symbol(),0,SMA_Period,0,MA_Mode,Applied_Price,1);
SMA_1 = NormalizeDouble{(SMA_1,MarketInfo(Symbol(}),MODE_DIGITS));
SMA_2 = iMA(Symbol(),0,SMA_Period,0,MA_Mode,Applied_Price,2);
SMA_2 = NormalizeDouble{SMA_2, MarketInfo(Symbol(}),MODE_DIGITS));
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if(Ticket > O &&% FMA_2 >= SMA_2 8& FMA_1 < SMA_1)

{

Closed = OrderClose(Ticket,Lots, Bid,Adjusted_Slippage,Magenta);

if(Closed == true)

{
Ticket = 0;
¥

}
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else if(Ticket > 0 && FMA_2 <= SMA_2 8& FMA_1 > SMA_1)

{
Closed = OrderClose(Ticket,Lots,Ask,Adjusted_Slippage,Aqua);
if(Closed == true)
{
Ticket = 0;
H
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if(OrdersTotal() == 0 88& FMA_2 <= SMA_2 && FMA_1 > SMA_1)

{
Ticket = OrderSend(Symbol(),OP_BUY,Lots,Ask,Adjusted_Slippage,0,0,
Comments,Magic,0,Magenta);
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if(OrdersTotal() == 0 && FMA_2 >= SMA_2 8& FMA_1 < SMA_1)

{

Ticket = OrderSend(Symbol(),OP_SELL, Lots,Bid,Adjusted_Slippage, 0,0,
Comments,Magic,0,Aqua);

}

return({0);
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